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A L Roll No. :
Objective j T Intermediate Part Second F 3(0 '4 2-'].] *
y  Paper Code PHYSICS (Objective) GROUP' 1
" 8472 Time: 20 Minutes Marks: 17
i Yon have four choices for each objective uestion C and D. The choice which you think is corret, fill the
Q.No.1 aﬁmdﬂh&ndhtglﬁ:ﬂ;ﬁzﬁru;%&m AUu-lrk{r"-rm;ﬂtdnh.
or filliag or more resa Zero ma uestion. ttempt ny questions x given in
w&um«mmmhumm&m ! e
S.# Questions A B C D
A particle of mass m and charge q is released from Ed E
1 | rest in a uniform electric field E. The K.E. attained == qE3d qEd 2
by the particle after moving a distance ‘d” is: .
2 | The energy stored in the capacitor is: KE. PE. E'ﬂ’?"" Electical P.E,
3 | On mcmsmg the length of wire specific resistance T D i irst ncrease
of the wire: Locee
An-electron s moving iracirele of radics " i a
4 | uniform magnetic field, suddenly the field is e . o ir
2 reduced to B/2, the radius of circle now becomes:
;; 5 i";":e:“b;m cartyig conductor per unit length | | o . o ILB 1B Bsin
> ¢ | The current flowing through a coil due to induced Shape of the W Area of the Magnstic flin
s emf'in it depends upon: coil coil coil €
= ; T In hemical Electrical | Mechanical
3 7 | The induced emf primarily produced at the cost of: energy P energy
b At low frequency the current through a capacitor ¢ Infini
. A.C. circuit will be: - Small Zero .
9 :ke inductance and capacitance behave a fu Voltage Frequency Time Cumrent
Impurity atoms are doped in semi Free e i
10 Inoveie Hlantions Holes Conductivity | Resistivity
The specially designed semi r diode used = . Light emitting
11 as indicator lamp in ¢ o i The switch ~ Solarcells | Photodiodes dicde
‘b Light Photo voltaic
: 12 tion of light? emitting | Photo diode cell All these
[ diode
. hf he
}} 13 Zero Infinity = =
;‘ i WaAV-CHOR O et TIAaV T work .
= 14 | functiofyg, is A,. What is threshold wavelength 221 4% 23 %
: for metal having work function 2 ), is?
i, ; : . | Compton | Photoelectric | Annihilation Pair
15 | Production of X-rays can be regarded as inverse of: effoct effect of matter | production
: . 5 Fission Fusion Chemical Nuclear
16 | The energy released per unit mass is greater in: . v reacting reaction
Enmgynwdﬁdtocrwtanelmnohulepaﬁ'ina y ’ . <GV
17 solid state detector is: 2-3evV 3-4eV 4-5eV 5-6¢ ]

336-X11121-17000



(xi) Write the factors upon
(xii) State Faraday’s law of

3. Write short answers to any EIGHT

;
t
!
§

4. Write short answers to any SIX parts,
0] As a solid is heated and begin to glow, why docs
(ii) Canpgirpmdlmionlakzphcfhwamm? i

(iii)
(iv)
)
(vi)
(vii) Describe a brief account of intera
B (viii) What factors make 3
(ix) What is self-qu
¥
5 (a)Define capacitance Ve a relation for capacitance of a parallel plate capacitor for air-and———
o~ dielectric 3 05
s (b)0.75A rough an iron wire withabaﬂeqofI.SVisconneetedamssitsends. The length
. of the {Omrand its cross-sectional area is 2.5x 107m?. Compute the resistivity of iron, 03
L 6. (a)Derive the'Rlation of e/m of an electron, 05
; (6)Two coils are placed side by side. Anemfof0.8V is observed in one coil when the current is changing
! at the rate of 200As™! in the other coil. What is the mutual inductance of the cojls? 03
: 7. ®)What is an operational amplifier? Derive a relation for gain of operational amplifier as inverting
i amplifier 05
(b)Find the capacitance required to construct a resonance circuit of frequency 1000kHz with an inductor
of SmH. ) 03
8. (i) Define and explain fusion reaction in detail. 05
’ ®A 1.0m long copper wire is subjededtoilretchingﬁommdilslengm increases by 20cm. Calculate
% the tensile strain and the percent elongation which the wire undergoes, 03
9. () What is de-Broglie hypothesis? How Davisson and Germer verify it? Explain, 05
() The wavelength of K X-ray from copper is 1.377x10-0g What is the energy difference between
the two levels from which this transition results? 03
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